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Rhabdome is found in
(1) eyes of insects

(2) cornea of human
(3) statocyst of annelida
(4) eyes of mollusca

Match and select correct option :

Name Common name
A. Daphnia i. Ship barnacle
B. Lepas ii. Mussel shrimp
C. Cypris iii. Water flea
. D. Hippa iv. Mole crab
Option :
A B C D

Qi 1 @ iv
@ i iv i il
@ i i1 iv il
@ i 1 i iv
Antennae are absent in -
(1) Dragon fly

(2) Spider

(3) Prawn

(4) Peripatus

What is Trophallaxis ?
(1) Exchange of food between
insects

(2) Exchange of message through
~ touch between insects

(3) Exchange of message through
sound between insects

(4) Parental care in insects

Coelom when derived from
blastocoel is called :

(1) Haemocoel
(2) Schizocoel
(3) Pseudocoel
(4) Enterocoel
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Larva of Unio is
(1) Glochidium
(2) Cercaria
(38) Veliger
(4) Planula

Larva is not found in the life
history of

(1) Ascaris

(2) Taenia

3) Frog

(4) Pheretima

Blood pigment in Scorpion
(1) Erythrocynin
(2) Haemocynin
(3) Haemoglobin
(4) Gamaglobin

Final moult of the larva in the life
cycle of Ascaris takes place in

(1) Soil

(2) Lungs of host
(3) Intestine of host
(4) Liver of host

Corpora cardiaca is :

(1) Salivary glands of Insects
(2) Endocrine organs of Insects
(3) Excretory organs of Insects
(4) None of these

. Excretory organs of Prawn is

(1) Green glands

(2) Coxal glands

(3)- Malpighian tubules
(4) Trachae
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In Aurilia
controlled by
(1) radial muscles
(2) nematocyst
(3) tentaculocysts
(4) elastic fibre

equilibrium is

Chloragogen cells found in
coelomic fluid of Pheretima
posthuma helps in

(1) Excretion

(2) Respiration

(3) Reproduction

(4) Circulation

A true perivisceral coeloms
around alimentary canal is not
present in —

(1) Hirudinaria

(2) Pheretima

(8) Neanthes

(4) None of these

How many pairs of elytra are
found on dorsal surface of
Aphrodite ?
(1) 15 pairs
(2) 16 pairs
(3) 30 pairs
(4) 32 pairs

Excretary organ of Pila is
(1) Osphradium

(2) Keber’s organ

(3) Organ of Bojanas

(4) Redula

Aristotle’s lantern is found in :
(1) Star fish i

(2) Sea anemone

(3) Sea urchin

(4) Sea mouse
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Which one is a connecting link
between Annelida and Mollusca ?

(1) Nautilus
(2) Neopilina
(3) Peripatus
(4) Lymnaea

The type of parthenogenesis, in
which male develops from
unfertilised egg and the female

" from fertilised egg, is known as :

(1) Gynogenesis
(2) Arrhenotoky
(3) Thelytoky

(4) Androgenesis

Ink gland present in
(1) Sepia

(2) Mytilus

(3) Pila

(4) All of these

Laurer’s canal is present in
(1) Taenia

(2) Fasciola

(8) Ascaris

(4) None of these

Class Cephalopoda includes

animals which have —

(1) Radial body symmetry

(2) Notochord extends upto head
(3) Foot located on head

(4) Head fused with thorax

. In Amphioxus, Coelom is

(1) Pseudocoelom
(2) Schizocoelic
(3) Enterocoelic
(4) Absent .
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Hatschek’s nephridium is found in

(1) Alimentary canal of
Herdmania

(2) Neural gland of Herdmania

(3) Oral hood of Branchiostoma

(4) Collar of Balanoglossus

Swim bladder or air bladder is
absent in

(1) Harpodon (Bombay duck)
(2) Cyprinus (Carp)

(3) Labeo (Rohu)

(4) Wallago (Lachi)

Dental formula in Elephant is
1-:0-0-3
@) —===
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1:0:0-3
@) ==
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1:0:3:0
0:0:3-0
1-0-:0:0
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4

Which of the following amphibian
are aquatic throughout life ?

(1) Ambystoma
(2) Xenopus
(3) Salamandra
(4) Siren

. Which of the following is found

only in India and is on the verge
of extinction?

(1) Crocodylus
(2) Alligator
(3) Gravialis
(4) Caiman
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Extreme or total neoteny is not
found in

(1) Necturus

(2) Siren

(3) Proteus

(4) Axolotl larva

What is absent in body wall of
Balanoglossus ?

(1) Epidermis

(2) Dermis

(3) Basement membrane
(4) Goblet gland cells

Which of the following is not an
aquatic mammal ?

(1) Dolphin

(2) Seal

(3) Whale

. (4) Penguin

“True Horns” are found in
(1) Deer

(2) Giraffes

(3) Rhinoceros

(4) Goat

Cranium is a constituent of
(1) Dermatocranium
(2) Splanchocranium
(3) Visceral skeleton

(4) Neurocranium

Oesophagus in adult vertebrates
is derived from

(1) Primitive gut
(2) Fore gut
(38) Mid gut
(4) Hind gut
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. The faecal matter

In reptilian heart is found

(1) 2 auricles and 2 ventricles

(2) 2 incomplete auricles and 2
ventricles

(3) 2 auricles and 2 incomplete
ventricles

(4) 2 incomplete auricles and 2
incomplete ventricles

Wolffian body is —

(1) Archinephros

(2) Pronephros

(3) Mesonephros

(4) Metanephros

Cranial nerve “Trochlear” in
vertebrates originates from

(1) Side of medulla
(2) Side of midbrain
(3) Floor of medulla
(4) Floor of midbrain

Accessary sex glands are found in
(1) Fish

(2) Amphibia

(3) Reptilia

(4) Aves

In cobra, fangs are —
(1) Solenoglyphous
(2) Proteroglyphous
(3) Opisthoglyphous

. (4) Absent

of birds
extensively used as fertilizer is
called

(1) Bulano

(@) Cervico

(3) Guano

(4) Phosphorum
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Ampulla of Lorenzini isa
(1) Chemoreceptor

(2) Thermoreceptor

(3) Mechanoreceptor
(4) Photoreceptor

Kidney of anamniotes is :
(1) Pronephros

(2) Mesonephros

(3) Metanephros

(4) Archinephros

Single-lobed Swim-bladder 1is
present in :

(1) Neoceratodus
(2) Protopterus
(3) Pristis

(4) Sphyrna

Number of cranial nerves present
in amniotes :

(1) 5 pairs
(2) 10 pairs
(3) 12 pairs
(4) 15 pairs

Which one. of the following male
mammals lacks dentition, scrotal
sac, external pinna and has
functional mammary glands
without teats ?

(1) Perameles
(2) Echidna
(3) Macaca
(4) Erinaceus
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‘Blind Spot’ is present in frog's
eye. Which of the following is
incorrect for ‘Blind Spot’ ?

(1) it lacks rods

(2) it lacks cones

(3) does not form an image
(4) forms distinct image

Synsacrum in fowl consists of
(1) 12 fused vertebrae
(2) 24 fused vertebrae
(3) 16 fused vertebrae
(4) 10 fused vertebrae

In polylecithal eggs, cleavage is
(1) Equal holoblastic

(2) Unequal holoblastic

(3) Meroblastic and discoidal
(4) Superficial

Ova of all placental mammals
including human are

(1) alecithal

(2) mesolectithal
(3) polylecithal
(4) centrolecithal

In which of the following animals

Biradial cleavage pattern is
found ?

(1) Annelids
(2) Molluscs
(3) Echinoderms
(4) Ctenophora
a3
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Which type of cleavage is found
in centrolecithal eggs ?

(1) Superficial cleavage

* (2) Meroblastic cleavage

(3) Unequal holoblastic cleavage
(4) Equal holoblastic cleavage

In which type of Dblastula,
blastocoel is filled with yolk ?

(1) Periblastula -
(2) Coeloblastula -~
(3) Amphiblastula
(4) Discoblastula

Formation of archenteron occurs
in which of the following stages of
development ?

(1) Blastulation
(2) Organogeny
(3) Gastrulation
(4) Cleavage

Notochord develops from
(1) Ectoderm

(2) Endoderm

(3) Mesoderm

(4) Mesenchyme

First cleavage in Hen’s egg is
(1) Meridional

(2) Equitorial

(3) Vertical

(4) Latitudinal
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Which of the following is not a

function of Placenta in mammals ?

(1) Exchange of  substance
through ultra-filtration

(2) Storage of fat, glycogen and iron

(3) It participate in  the
metabolism of protein

(4) It participate in fat metabolism

The  “hypoblast” in

development is formed of —

(1) Ectoderm
(2) Mesoderm
(3) Ectoderm and Mesoderm
(4) Endoderm

chick

/

In Hen’s embryo lumber and
caudal flexures develop in —

(1) 48 hrs stage
(2) 36 hrs stage
(3) 72 hrs stage

(4) 96 hrs stage

After how many days of
incubation in chick, beak
formation takes place

(1) 4tk day

(2) 5thday

(3) 6tk day

(4) 14tk day

Which membrane develop from
Somatopleure ?

(1) Amnion and Chorion

(2) Chorion and Allantois
(3) Yolk sac and Allantois
(4) Amnion and Allantois
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64.

- 65.

Which extra embryonic
membrane in chick embryo act as
shock absorber and protect it
from dessication ?

(1) Yolk sac
(2) Chorion
(3) Amnion
(4) Allantois

Function of excretion in embryo
of chick is performed by —

(1) Amnion

(2) Chorion

(3) Yolk sac

(4) Allantois

The formation of gray crescent
after fertilization in frog’s egg
causes change in symmetry from

(1) radial to bilateral symmetry
(2) bilateral to radial symmetry
(3) radial to biradial symmetry
(4) biradial to radial symmetry

During frog development, 32
blastomeres (16 upper micromeres
and 16 lower macromeres) are
formed because of —

(1) third cleavage

(2) fourth cleavage

(3) fifth cleavage

(4) eighth cleavage

During gastrutation in frog
development spreading of
presumptive ectoderm is called —
(1) Epiboly

(2) Invagination

(3) Involution

(4) Convergence



66.

67.

68.

69.

e #, i I &0 @ 3 & fEfn
T - '

A TR i geHERw, W
B. &R il A9 ©®, A
df=sr o=

C. J-&R iii. 4Fad, PIHA
faeq -

A B
1 1 i
2 i 1
3) i 1
“4) 1 11

Hegeh § Wit 11ef %1 fmfor g @
(1) EENRRRA

)

(3) MEfrRd

(4) NRfema

C
i
i

ufeafen arfeimesht v Ieafads &
HEEd 39 Bl & | g &=
JuihaT I oWy H WM g
(rgH) Tt ¢ @ feda a=am &
ufet 2R 1 iR w7 Bt 2

(1) 25%

2) 50%

(3) 75%

(4) 100%

=1 & @ =l gl St &1 See
27

(1) e

(2) dahifern

(3) Fuiigan

1) TR EIHW

66.

67.

68.

In frog, match the formation of

organs from three germinal

layers —

A. Ectoderm i. Pericardium,
Spleen

B. Mesoderm ii. Eye lens,
Central

nervous system
C. Endoderm iii. Liver, Lungs
Options :

A B C
1 1 i1 i
2 i i i
@) m i i
“4) 1 i i

In frog, future kidney is formed
from

(1) Hypomere
(2) Epimere

(3) Mesomere
(4) Proctodaeum

Albinism is caused by a
autosomal recessive mutation.
For a couple with normal skin
pigmentation, the first child was
an albino, then what would be
the probability of their second
child to be an albino ?

(1) 25%

@) 50%

3) 75%

(4) 100%

. Which of the following is an

example of polygenic inheritance ?
(1) Phenyl-ketonuria

(2) Haemophilia

(3) Colour-blindness

(4) Skin colour in human
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70.

71.

72.

73.

74.

43

f= & 9 = fuidife e & fmfw
HAG TR ?

(1) Yfewem Fre

(2) s feReot

(8) &S JATE

(4) TR wh

FUTi-HaT U X-Ggere ATl fahr 8 )
g fUar 9 ares drar i =it
g # oy g wilkeear @&
gt ?

(1) 1/4

(2) 2/4

3) 3/4

4) 4/4

= # a8 s w1 fag SafEdy =
ITER ?

(1) Sdafiftrn

(2) deirhiferm

(3) foher & TeTaT

4) == g

o, foraferdt @ wrenit & R fefor
ARt

1) XX-XY

2) XX-XO

B) ZZ-IW

(4) X/A ST

AT & 7 <Y FUIHATAT T HII R :

(1) St St &1 X-TorE J fom
B |

(2) T A BT X T[Tt o R & |

(38) el S w1 Y-TorRE 6 R
BT |

(4) TS S 1 YT o o 2 |

|
|
|
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70.

71.

72,

73.

74.

Which of the following induces
the formation of pyrlmldme -
dimer ?

(1) Alkylating agent

(2) UV-rays

(3) Base-analogies

(4) Acridine-dyes

Colour-blindness is  X-linked
recessive disorder. From a normal
father and carrier mother, what
will be the probability that born
child is colourblind ? .

1) 1/4

2) 2/4

(3) 3/4

4) 4/4

‘Which of the following is the

example of point mutation ?
(1) Thalessemia

(2) Haemophilia

(8) Sickle Cell Anaemia

(4) Down Syndrome

In birds, butterflies and moths,
sex determination mechanism is

1) XX-XY
(2) XX-XO
3) ZZ-7ZW
(4) X/A ratio

The red green colour blindness is

caused due to

(1) The recessive gene located in
X-chromosome

* (2) The dominant gene located in

X-chromosome

(3) The recessive gene located in
Y-chromosome )

(4) The dominant gene located in
Y-chromosome



75.

76.

71.

g #e ‘o a7 gro el @
YREY YHTE 391 A HI {HaT i aifg
HAR ?

(1) 9Sedr

(2) SEgmReT
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75.

76.

71.

Which of the following describes
the ability of a single-gene to
have multiple phenotypic effects ?
(1) Epistasis

(2) Multiple allelism

(3) Pleiotrophism

(4) Polygenic inheritance

Duchene Muscular dystrophy is a
sex-linked recessive disorder is
common in boys, girls can be
carrier and mildly affected. Why ?

(1) Sex-linked traits are less
common in female.

(2) Female must have 2 genes to
express such Y-linked

recessive disorder.

(3) Non-dysjunction of chromosomes
is common in males than

compared to females.

Gene for this disorder is
carried by Y-chromosomes

4)

In an individual 4 genes P, Q, R,
S are present on a chromosome.
What would be the correct order
of these genes on chromosome if
distance between genes are :
P-Q=9cm,P-R=5cm
P-S=12cm, Q-R=4cm
Q-S=3cm,R-S=7cm

1 P-Q-R-S

@ P-R-Q-S
3 P-S-R-Q
4 P-S-Q-R
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78.

79.

82.

SaafEdd fE® g0 m-IR @ T A
FUIY HISH I e &

(1) w Fremae JeafadA

(2) forad= Iaiad

(8) fefe 3afadH

(4) g Scafad

QTL % foq smfie-seae aftn fafy
%! yEarfaa fen

(1) FRaAfRAA

(2) I=19

(3) ST IRAI

(4) T ARG TE

. U1 HY HEYA & :

(1) SEfeen

(2) Yrhifrm-ures favg |
(3) WiEIfvgAT &

(4) TUEEHAEE &

. afken ¥ X-RpiE 3 odEma

TY=T A9 (X : A ) 3R 0.75
2, A 7@ 1T o for wegor e g
(1) W

(2) wefeft

B W

(4) st

AT fegR-gHw ° & o= &
Wiyl & g A F, fidt § AaBb oA
WEY IO~ AT | WaA AT 9
TRl & fEm ® e # e ©
wage % F, gafa # frw ogea
AaBb S+ IREY 9T ER T ?

(1) 3/16

2 9/16

(3) 116

(4) 4/16
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78.

79.

80.

81.

| s2.

The type of mutation which
produce stop codon in mRNA is

(1) Frame-shift-mutation
(2) Missense-mutation
(8) Non-sense mutation
(4) Silent mutation

Composite Interval Mapping
(CIM) method for QTL was
proposed by :

(1) Lander and Botstein

(2) Zeng

(3) Jansen and Stam

(4) None of these

Kappa particles are associated
with :

(1) Drosophila

(2) Paramoecium - Killer strain
(3) Mitochondria

(4) Chlamydomonas

In the Drosophila, if the
X-chromosomal and autosomal
set ratio (X : A ratio) is 0.75, then
what would be the phenotype for
this ratio ?

(1) Female

(2) Inter-sex

(3) Male

(4) Super-male

In Mendelian dihybrid cross two
pure-line plants were crossed to
produce F;-generations with

AaBb genotype, then what
proportion of F, progeny will
have AaBb genotype considering
Law of Segregation and
Independent Assortment ?

(1) 3/16

(2) 9/16

3) 1/16

(4) 4/16
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83.

84.

85.

Match the chromosomal

inheritance in Column-I with

corresponding genetic disorder in

Column-II :
Column-I

A. Autosomal i.
recessive
inheritance

B. Autosomal ii.
dominant
inheritance

C. X-linked

- inheritance

D. Y-linked
inheritance

Column-I1
Marfan
syndrome

Hypertrichosis

Cystic fibrosis

iv. Haemophilia

‘ Option:

A B C
1 i v i
(2) iv i i
@ ii 1 iv
4) iv i i

N~ =

A euploid female with one
X-chromosome (Turner syndrome)
result from

(1) Trisomy of Autosome

(2) Monosomy of Allosome

(3) Nullisomy of Allosome

(4) Trisomy of Allosome

Two plants with mutant
phenotype (white flower) crossed
and purple flower in F, generation

were obtained. After self-crossing
the F, plants purple and white

flowers obtained in the ratio of

9 : 7 in F, generations. Find out

the interaction in this cross.

(1) Complementary gene
interactions

(2) Recessive epistasis

(3) Dominant epistasis

(4) Collaborating gene-interaction
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86.

87.

88.

Which of the following statement

is incorrect about mutation ?

(1) Transgenic animals can be
produced by chemical
mutagens.

"(2) Mutation play a important

role in evolution.

Mutation can induce

deleterious effect on normal

gene sequence. 7

(4) Mutation may or may not
produce noticeable phenotype.

3)

Coat colour in rabbit is controlled
by 4 different alleles with
Independent Assortment. Find
out possible genetypes in diploid
population of rabbit.

1) 15

(2 10

3) 6

4 4

Match the following and choose
correct option :

Theories about = Name of
origin of life Scientist
A. Materialists i. Von
theory Helmont
B. Theory of ii. Haeckel
spontaneous
generation -
C. Theory of ii. AL
Biogenesis Oparin
D. Biochemical iv. Francisco
origin of life Redi
Option :
A B C D
QD 1 1 iv il
@ i i i iv
3) iv il 1 i
4 1 iv m n
o
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89.

90.

91.

92.

- (1) Enormous

Stanely Miller in his experiment
synthesised simple amino acid
using —

(1) H,, Oy, N, and H,0

(2) CH,, CN, H, and o,

(3) H,, NH,, CH, and water vapour
(4) NHg, CH,, O, and water vapour

"Which one among the following is

not included in Darwin’s theory
of natural selection ?

fertility in
organism

(2) Use and disuse of organs

(3) Survival of the Fittest

(4) Struggle for Existence

Book “Philosophic Zoologque” was
published in 1809. Who was the
author of this book ?

(1) Darwin
(2) Weisman
(3) Mendel
(4) Lamarck

Mutation theory - of Hugo De
Vries was based on study of
which plant ?

(1) Pea

(2) Algae

(3) Evening Primrose

(4) Wheat

Fossils of dropping of animals or
faecal matter are called —

(1) Coprolites
(2) Micro-fossils
(3) Bioclast

(4)' Gastroliths
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Which Nobel laureate suggested
Radioactive carbon method for
dating of rocks and fossils ?

(1) W.F. Libby
(2) Boltwood
(3) Welden
(4) Haldane

Which Era was known as golden
period for Dinosaurs ?

(1) Proterozoic era
(2) Palaeozoic era
(3) Mesozoic era
(4) Coenozoic era

Which period is called as the “Age
of Fishes” ?

(1) Ordovician period

(2) Devonian period

(3) Silurian period

(4) Cambrian period

The fossil of Java-man were

found in 1891 on the bank of Solo
River in Eastern Java by

(1) Dubois

(2) Davidson Black

(8) Leakey

(4) Robert Broom
Cro-Magnon Man lived in
(1) Asia

(2) America

(3) Australia

(4) Europe
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99.

100.

101.

102.

103.

In study zoogeographical

distribution of animals, Wallace’s

line does not runs between

(1) Philippines and Moluccas in
north )

(2) Borneo and Celebes in South-Wes

(3) Bali and Lombok in South

(4) Sumatra and New Guinea in

Centre

India is located under follewing
zoogeographical realm :

(1) Palaearctic realm

(2) Ethiopean realm

(3) Oriental realm

(4) Neotropical realm

Who introduced the lead (Pb)
method of dating geological strata ?
(1) Boltwood in 1907

(2) W.F. Libby

(3) Arkell in 1956

(4) Sir Charles Lyell

In a population of 1000
individuals 360 Dbelongs to
genotype AA, 480 to Aa and the
remaining 160 to aa. Based on
this data, the frequency of allele
A in the population is

(1) 0.4
@) 0.5
3) 0.6
4) 0.7
The groups of local populations of
a widely distributed species,
which exhibit regular and
gradual stepwise phenotypic
modifications throughout its

geographical range is called :
(1) Demes
(2) Geographical races
{3) Ecotypes
(4) Clines
43
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104.

105.

106.

107.

108.

Aardvark, Nautilus, Tuatara,
Koala and Red Panda are
examples of
(1) Fossils

(2) Connecting links
(3) Living fossils
(4) Extinct species

Fluctuation in the distribution of

gene frequencies caused by
isolation of non-representative
samples of the founding
population is called

(1) Genome '

(2) Genotype

(8) Genetic drift

(4) Gene pool |

Phenomenon of Industrial
melanism in Biston betularia

demonstrate

(1) Evolution

(2) Mutation

(8) Directional Natural Selection
(4) Stabilizing Selection
Evolution of Homo sapiens
occurred in :

(1) Oligocene

(2) Miocene

(8) Pleistocene

(4) Eocene
Under Territorial behaviour,
Wilson (1975) classified

territories into various types.

What is Type-B territory ?

(1) Area for resting and mating

(2) Area for nesting and feeding

(8) Area for mating and nesting

(4) Area for resting and feeding
only :
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109. Quick response towards stress is

110.

111.

. In Dbiological clock,

because of

(1) Androgen

(2) Epinephrine

(3) Corticosteroids
(4) Estrogen '

Match and select correct option :
Ethologist  Animal Studied
A. JaneVan 1i. Gorilla
Lawick
Goodoll

B. Dian 1. Tigers
Fossey

C. George B. iii. Chimpanzees

Schaller

D. Irwin De iv. Baboons
Vore

Options :
A B C D

Q) 1 1 i iv

@2 1 1 ni iv

@ it i iv 1

4 iv 1 i

In lesion experiment to study
eating behaviour, which part of
hypothalamus was found as
satiety centre ?

(1) Ventro-medial
(2) Dorsal

(3) Lateral

(4) Anterior

‘circadian
rhythm’ is term used for

(1) 12hrs

(2) 12 days

(3) 24 days

(4) 24 hrs



113.

114.

115.

116.

117.

43

TEHT I HeSll A geIBeE TSRk
FHA ATt w9 gfeat waad &

(1) ahRAE ufeat

(2) Wit afeat

(3) Gehiea afeat

(4) artw afeat

qod rftre gt &1 wae fope vaft 6 S
27

(1) 3TEhiesh o4

(2) weTE

(3) Tt 1w

(4) I E®

3 TefeEl I 9g ¥ WSS I H AR
YT S A A TG 1 3R Jq8@= HTdl
? 7g T § Yo % fore A+ B,
HEAT &

(1) W e

(2 afemdt 7o

(3) wIgH A

(4) wHEE A

A= F1 IR F& I 6t e
T W 36 9T § g1 foan wRada H
@ gfg areht 8, a3

(1) vavEfeasen

(2) SR

(3) wHPaEEeH

(4) Sl

& HYAFE! 1S9 % did H TS B
%250wﬁm@mwm%ﬁ

— — ————— T—— — T ——t

25

113.
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116.

Biological clocks which
synchronized with the
phases are called

(1) circasynodic clocks

(2) semilunar clocks

(8) circadian clocks

(4) circatidal clocks

Which bird travel longest
distance during migration ?

(1) Arctic tern

(2) Mallard

(3) Himalayan geese

(4) Night hawk

are
moon

Fish migrates from sea to fresh
water and from fresh water to sea
but not for breeding are called

(1) Amphidromous fish
(2) Potamodromous fish
(3) Diagamous fish

(4) Oceanodromous fish

The type of orientation where the
rate of change of direction increases
in proportion to the increase in light
intensity is called —

(1) Klinokinesis

(2) Orthokinesis

(8) Tropotaxis

(4) Telotaxis

. When honey bee discovers a food

source less than 250 feet away
from the hive, it pass on the
information to other bees by
performing

(1) Waggle dance

(2) Round dance

(8) " Abdominal dance

(4) Tail dance



110.

119.

120.

121.

122,

&I4 (1Y0l) 0 AR 1% H A <nlv Al
q‘@aﬁwmmﬂﬁmwﬁ%?
(1) FTwhE

(2) e

(3) waEfa®

(4) vt e

ferfafssa TgRe & Sefta S 2 -
(1) . Ju=g

(2) PSR

(3) @™ Y. uraeny

(4) Tep s

g s U qUT AW = AW *
Yged T Aleidied Tiferat @ fFa TR
H 701 Iaarfed B E ?

(1) T

(2) e

(8) ofter awt

(4) e Tt

'aaaﬁésﬁgga:3ﬂ1nnfaﬁcﬁ%fﬁata4

Fag e g, AR FE E
@8 wig st
Q) &= FAff=mE

(8) weHfaes Afufa=ma
(4) Iraferdfia Afufa=ma

ATFIEAT (1965) I HIfSA T % =R
o gare § | e 3 & B9 @ 5 g
TE qqET T AT ?

(1) s

(2) wufE

(3) = = R

(4) T wd Sean

|

26

110.

119.

120.

121.

122,

£fAccoraing 1o rieape (19o0l), which
of the following is not a primary
reason for fish migration ?

(1) Gametic
(2) Alimental
(3) Climatic
(4) Osmoregulatory

The scientist associated with
classical conditioning :

(1) J. Romanes

(2) Konard Lorenz
(3) Ivan P. Pavlov
(4) Niko Tinbergen

Which type of waves are
produced from parietal and
occipital loses when a man is at
rest and with eyes closed ?

(1) Alpha waves
(2) Beta waves

(8) Theta waves
(4) Delta waves

When an animal retraces its path
to the point where it started
from, it is called —

(1) Strato orientation

(2) Zonal orientation

(8) Topographic orientation
(4) Positional orientation

Eisenberg (1965) proposed four

properties of organised societies.

Which of the following is not

proposed by him ?

(1) Communication

(2) Cohesion

(3) Division of Labour

(4) Impermanence and Permeability
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Mermaid’s purse is related to
which of the following fish ?

(1) Scoliodon

(2) Scyllium

(3) Hippocampus
(4) Syngnathus

Ethologist S. Grossman (1966)
discovered a method of
activating, eating and drinking
circuits in  human  brain
separately. He used which of the
following neuro-inhibitors for this ?
(1) Nor-adrenaline

2 Methylphenethylamme

(8) Crocaine

(4) Dopamine

Which chemical trigger’s
drinking behaviour when
administered in hypothalamus of
rat ?

(1) Acetyl choline

(2) Estrogen

(3) Nor-adrenaline

(4) Dopamine

Which of the following is
associated with speech in the
brain ?

(1) Broca’s area

(2) Right temporal lobe

(3) Hypothalamus

(4) Pituitary gland

. Promiscuous mating occurs in

(1) Geese
(2) Chimpanzees
(8) Gibbon
(4) Eagle
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Five

Carolus Linnaeus of
nomenclature is

(1) natural

(2) artificial

(3) phylogenetic

(4) binomial

system

The level at which the species are
characterised and named, is
called :

(1) Alpha taxonomy

(2) Beta taxonomy

(3) Gamma taxonomy

(4) Cladistic taxonomy

Which phylum has a true coelom ?
(1) Cnidaria

(2) Mollusca

(3) Annelida

(4) Porifera

Horse belongs to which of the
following order ?

(1) Perissodactyle

(2) Artiodactyla

(3) Proboscidea

(4) Carnivora

Kingdom  System  of

Classification suggested by R.H.

Whittaker is not based on

(1) presence or absence of a well
defined nucleus

(2) mode of production

(3) mode of nutrition

(4) complexity of body organisation

. Retrogressive metamorphosis occu

in
(1) Hemichordata
(2) Cephalochordata
(3) Urochordata

(4) Vertebrata
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The vertebrate does not have
(1) epidermal scales

(2) claw

3) tail

(4) cnidoblast

In human; Stapes, Hyoid,
Thyroid  Cartilage, Tracheal
Cartilages are modification of

(1) neural tube

(2) notochordal cells

(3) neural plate

(4) pharyngeal gill slits

The adult animal of which

phylum is radially symmetrical;
but their larva exhibits bilateral
symmetry ?

(1) Annelida

(2) Arthropoda

.(8) Mollusca

(4) Echinodermata

Which of the following is a
mismatched pair ?

(1) Scales — Reptalia

(2) Combplates — Mollusca
(8) Choanocytes — Porifera
(4) Parapodia — Annelida

Which of the following is an egg
laying mammal ?

(1) Ornithorhynchus
(2) Didelphys

(38) Sorex

(4) Macropus
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Which of the following is not a
order of class Echinoidia of
phylum Echinodermata ?

(1) Cidaroida

(2) Didematoida

(3) Clypeasteroida

(4) Ophiurida

Which of the following is not a
class of phylum Cnidaria ?

(1) Hydrozoa

(2) Scyphozoa

(3) Trematoda

(4) Anthozoa

Biradial symmetry is found in
which of the following ?

(1) Hydra
(2) Labeo
(3) Beroe
(4) Sponges

The phylum of sea mouse is
(1) Mollusca

(2) Cnidaria

(8) Annelida

(4) Arthropoda

Which of the following animal
belongs to the phylum mollusca ?

(1) Devil fish
(2) Dog fish
(8) Silver fish
(4) Jelly fish

Which one of the following kinds
of animals are triploblastic ?

(1) Flatworms

(2) Sponges

(8) Ctenophores

(4) Corals
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Which of the following is not a
deuterostome ?
(1) Sea urchin
(2) Earthworm
(3) Sand dollar
(4) Ichthyophis

Taxonomy based on maximum
numbex: of phenotypic characters is

(1) Phytogenetic system
(2) -Artificial system

(3) Natural system

(4) Sonotaxonomy system

According to Affinities of

Hemichordata with Echinodermata,

following is not a larval resemblance :

(1) Presence of apical plate with
sensory hairs, eye spots and
telotroch

(2) Small, pelagic, transparent
and oval

(3) Enterocoelic origin of coeloms

(4) Blastopore becomes the anus

-Sipunculus is commonly known as

(1) Peanut worm

(2) Beetle worm

(3) Lug worm

(4) Rag worm

Which of the following is not a
larva of star fish ?

(1) Dipleurula larva

(2) Bipinnaria larva

(3) Brachiolaria larva

(4) Auricularia larva

. How many arms are present in

Antedon ?
1) 16
2 8
3) 12
4 5
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